## ADAPTIVE FUZZY CONTROL FOR MIMO NONLINEAR SYSTEM WITH UNMODELED DYNAMICS

WENXIN LIU, HUANQING WANG AND WEIYI QIAN

School of Mathematics and Physics Bohai University No. 19, Technology Road, Jinzhou 121000, P. R. China ndwhq@163.com

Received January 2016; accepted April 2016

ABSTRACT. In this paper, an adaptive fuzzy control scheme is proposed for a class of multiple input and multiple output (MIMO) nonlinear systems with unmodeled dynamics. To solve the difficulties from the unmodeled dynamics, a dynamic signal is introduced. Fuzzy systems are used to approximate the packaged unknown nonlinearities, and an adaptive fuzzy control approach is developed via backstepping, which guarantees that all the signals in the closed-loop system are semi-globally uniformly ultimately bounded. Simulation results are used to show the effectiveness of the proposed control scheme. Keywords: Adaptive fuzzy control, MIMO nonlinear systems, Unmodeled dynamics

1. Introduction. During the past several decades, a large number of research results [1-6] have been obtained on adaptive backstepping control of multiple input and multiple output (MIMO) nonlinear systems which extensively existed in the practical engineering. For example, in [1], a robust stabilization control approach is proposed for a class of MIMO nonlinear systems via backstepping. Further, Chen et al. [2] consider the problem of adaptive backstepping tracking control of strict-feedback MIMO nonlinear systems with input constraints. Alternatively, by using universal approximators, such as fuzzy systems and radial basis functions neural networks, together with adaptive backstepping technique, many approximation-based adaptive backstepping control schemes [3, 4] are developed for nonlinear systems with unknown functions. It is well known that unmodeled dynamics frequently exist in practical systems and are often a source of instability of the control systems. Therefore, in the controller design process, the effect of unmodeled dynamics to the control systems could not be ignored, and there exist many significant results which have been reported in [5, 6] and the references therein.

Motivated by the above observations, in this paper, an adaptive fuzzy control approach is proposed for a class of MIMO nonlinear systems with unmodeled dynamics. During the controller design, fuzzy systems are introduced to approximate the packaged unknown nonlinearities. Then, an adaptive fuzzy control scheme is derived via backstepping, which can guarantee the semi-global boundedness of resulting closed-loop systems. The main advantage of this research is that only one adaptive law is required to be updated online for each subsystem. Finally, a numerical example is provided to illustrate the effectiveness of the presented approach.

2. Problem Formulation and Preliminaries. In this paper, we consider a class of MIMO nonlinear systems. Its *i*th (i = 1, 2, ..., N) subsystem is

 $\begin{cases} \dot{z}_{i} = q_{i}(z_{i}, x_{i}), \\ \dot{x}_{ij} = g_{ij}\left(\underline{x}_{ij}\right) x_{ij+1} + f_{ij}\left(\underline{x}_{ij}\right) + \Delta_{ij}\left(\underline{x}_{ij}, z_{i}, t\right), \ i = 1, 2, \dots, N; \ j = 1, \dots, n_{i} - 1, \\ \dot{x}_{in_{i}} = g_{in_{i}}\left(\underline{x}_{in_{i}}\right) u_{i} + f_{in_{i}}\left(\underline{x}_{ij}\right) + \Delta_{in_{i}}\left(\underline{x}_{in_{i}}, z_{i}, t\right), \\ y_{i} = x_{i1}, \end{cases}$ (1)

where  $x_i = [x_{i1}, x_{i2}, \ldots, x_{in_i}]^T \in \mathbb{R}^{n_i}, y_i \in \mathbb{R}$  and  $u_i$  are the state vector, the scalar output and control input of the *i*th nonlinear subsystem, respectively;  $\underline{x}_{ij} = [x_{i1}, x_{i2}, \ldots, x_{ij}]^T \in \mathbb{R}^j$ .  $z_i \in \mathbb{R}^{n_{i0}}$  in (1) denotes the unmeasured portion of the state. The  $z_i$ -dynamics in (1) is the unmodeled dynamics,  $\Delta_{ij}(\cdot)$  is an uncertain dynamic disturbance,  $f_{ij}(\cdot)$  and  $g_{ij}(\cdot)$ are unknown smooth nonlinear functions with  $f_{ij}(0) = 0$ . It is supposed that  $\Delta_{ij}(\cdot)$  and  $q_i(\cdot)$  in (1) are uncertain Lipschitz continuous functions.

The objective of this paper is to design an adaptive fuzzy control scheme such that all the signals in the closed-loop system are semi-globally uniformly ultimately bounded.

Assumption 2.1. [5] For the dynamic disturbances  $\Delta_{ij}$  in (1), there exist unknown nonnegative smooth functions  $\phi_{ij1}(\cdot)$  and  $\phi_{ij2}(\cdot)$ , such that

$$|\Delta_{ij}| \le \phi_{ij1}\left(\left|\underline{x}_{ij}\right|\right) + \phi_{ij2}(|z_i|).$$

$$\tag{2}$$

**Assumption 2.2.** [5] The unmodeled dynamics in (1) is exponentially input-to-state practically stable (exp-ISpS); i.e., for the system  $\dot{z}_i = q_i(z_i, x_i)$ , there exists an exp-ISpS Lyapunov function  $V_i(z_i)$  such that

$$\alpha_{i1}(|z_i|) \le V_i(z_i) \le \alpha_{i2}(|z_i|), \tag{3}$$

$$\frac{\partial V_i(z_i)}{\partial z_i} q_i(z_i, x_i) \le -c_i V_i(z_i) + \mu_i(|x_{i1}|) + d_i, \tag{4}$$

where  $\alpha_{i1}$ ,  $\alpha_{i2}$  and  $\mu_i$  are of class  $K_{\infty}$ -functions,  $c_i$  and  $d_i$  are known positive constants.

**Assumption 2.3.** [8] For  $1 \leq j \leq n_i$ , the signs of  $g_{ij}(\underline{x}_{ij})$  are known, and there exist unknown positive constants b and  $b_M$  such that

$$0 < b \le \left| g_{ij} \left( \underline{x}_{ij} \right) \right| \le b_M < \infty, \quad \forall \bar{x}_{ij} \in R^{n_i}.$$

$$(5)$$

**Lemma 2.1.** [7] Let f(x) be a continuous function defined on a compact set  $\Omega$ . Then for any given constant  $\varepsilon > 0$ , there exists a fuzzy logic system  $W^TS(x)$  such that  $\sup_{x\in\Omega} |f(x) - W^TS(x)| \le \varepsilon$ , where  $W = [w_1, w_2, \ldots, w_N]^T$  is the ideal constant weight vector,  $S(x) = [s_1(x), \ldots, s_N(x)]^T / \sum_{j=1}^N s_j(x)$  is the basis function vector, N > 1 is the number of the fuzzy rules and  $s_j(x)$  are chosen as Gaussian functions, that is,  $s_j(x) = \exp\left[\frac{-(x-\mu_i)^T(x-\mu_i)}{\eta_i^2}\right]$ ,  $i = 1, 2, \ldots, N$  with  $\mu_i = [\mu_{i1}, \mu_{i2}, \ldots, \mu_{in}]^T$  being the center vector and  $\eta_i$  the width of the Gaussian function.

In the next section, a backstepping-based adaptive control procedure will be proposed. Both the virtual control signals and adaption laws will be designed as

$$\alpha_{ij}(\bar{x}_{ij}) = -(\lambda_{ij} + 0.5)\bar{x}_{ij} - \frac{1}{2a_{ij}^2}\bar{x}_{ij}\hat{\theta}_i S_{ij}^T(X_{ij})S_{ij}(X_{ij}),$$
(6)

$$\dot{\hat{\theta}}_{i} = \sum_{j=1}^{n_{i}} \frac{\gamma_{i}}{2a_{ij}^{2}} \bar{x}_{ij}^{2} S_{ij}^{T}(X_{ij}) S_{ij}(X_{ij}) - \sigma_{i} \hat{\theta}_{i},$$
(7)

where, for  $1 \leq i \leq N$ ,  $1 \leq j \leq n_i$ ,  $\lambda_{ij}$ ,  $a_{ij}$ ,  $\gamma_i$  and  $\sigma_i$  are positive design parameters,  $X_{ij} = \left[\underline{x}_{ij}^T, \hat{\theta}_i, r_i\right]^T$  with  $\underline{x}_{ij} = [x_{i1}, x_{i2}, \ldots, x_{ij}]^T$ , and  $\bar{x}_{ij}$  satisfies the following coordinate transformation:

$$\bar{x}_{ij} = x_{ij} - \alpha_{i(j-1)},\tag{8}$$

where  $\alpha_{i0} = 0$ ,  $\hat{\theta}_i$  is the estimation of unknown constant  $\theta_i$  which is defined as

$$\theta_i = \frac{1}{b} \parallel W_{ij} \parallel^2; \quad 1 \le i \le N, \ 1 \le j \le n_i,$$
(9)

where  $|| W_{ij} ||$  denotes the norm of the ideal weight vector of fuzzy logic systems, which will be specified at the *j*th design step. Specifically,  $\alpha_{in_i}$  denotes the control input  $u_i$ .

**Lemma 2.2.** [5] If  $V_i$  is an exp-ISpS Lyapunov function for a control system, i.e., Equations (3) and (4) hold, then for any constant  $\bar{c}_i$  in  $(0, c_{i0})$ , any initial condition  $x_{i0} = x_{i0}(0)$ , and any function  $\bar{\mu}(x_{i1}) \ge \mu(|x_{i1}|)$  there exists finite time  $T_{i0} = T_{i0}(\bar{c}_i, r_{i0}, z_{i0})$ , nonnegative function  $D_i(t)$  defined for all  $t \ge 0$  and a signal described by

$$\dot{r}_i = -\bar{c}_i r_i + \bar{\mu}_i (x_{i1}(t)) + d_i, \quad r_i(0) = r_{i0},$$
(10)

such that  $D_i(t) = 0$  for all  $t \ge T_{i0}$ ,

$$V_i(z_i(t)) \le r_i(t) + D_i(t).$$
 (11)

For all  $t \ge 0$ , the solutions are defined. Without losing of generality, this paper takes  $\bar{\mu}_i(.)$  as  $\bar{\mu}_i(s) = s^2 \mu_{i0}(s^2)$ , where  $\bar{\mu}_i(.)$  is a nonegative smooth function. Therefore, the dynamical  $r_i$  defined by (10) becomes

$$\dot{r}_i = -\bar{c}_i r_i + x_{i1}^2 \mu_{i0} \left( \left| x_{i1}^2 \right| \right) + d_{i0}, \quad r_i(0) = r_{i0},$$
(12)

where  $\mu_{i0}$  is a nonnegative smooth function.

3. Adaptive Fuzzy Control Design. For simplicity, the time variable t and the state vector  $\underline{x}_{ij}$  are omitted from the corresponding functions and let  $S_{ij}(X_{ij}) = S_{ij}$ .

**Step 1.** Based on  $\bar{x}_{i1} = x_{i1}$ , let us first consider the subsystem

$$z_i = q_i(z_i, x_i),$$
  

$$\dot{x}_{i1} = g_{i1}x_{i2} + f_{i1} + \Delta_{i1}(x_{i1}, z_i, t).$$
(13)

To stabilize the subsystem (13), we consider a Lyapunov function as

$$V_{i1} = \frac{1}{2}\bar{x}_{i1}^2 + \frac{1}{\lambda_{i0}}\dot{r}_i + \frac{b}{2\gamma_i}\tilde{\theta}_i^2.$$
 (14)

Then, the time derivative of  $V_{i1}$  is

$$\dot{V}_{i1} \leq \bar{x}_{i1}(g_{i1}x_{i2} + f_{i1}) + |\bar{x}_{i1}|\phi_{i11}(|x_{i1}|) + |\bar{x}_{i1}|\phi_{i12}(|z_i|) - \frac{c_i}{\lambda_{i0}}r_i + \frac{1}{\lambda_{i0}} \left(x_{i1}^2\mu_{i0}\left(|x_{i1}^2|\right) + d_{i0}\right) - \frac{b}{\gamma_i}\tilde{\theta}_i\dot{\hat{\theta}}_i,$$
(15)

where  $\tilde{\theta}_i = \theta_i - \hat{\theta}_i$ . By Assumption 2.1 and  $0 \leq |\eta| - \eta \tanh\left(\frac{\eta}{\epsilon}\right) \leq \delta\epsilon$ ,  $\delta = 0.2785$ , we obtain

$$|\bar{x}_{i1}|\phi_{i11}(|x_{i1}|) \le \bar{x}_{i1}\hat{\phi}_{i11}(x_{i1}) + \epsilon'_{i11}, \tag{16}$$

where  $\epsilon'_{i11} = 0.2785\epsilon_{i11}$  and  $\hat{\phi}_{i11}(x_{i1}) = \phi_{i11}(|x_{i1}|) \tanh\left(\frac{\bar{x}_{i1}\phi_{i11}(|x_{i1}|)}{\epsilon_{i11}}\right)$ .

By using the same derivations as [5], the following result holds:

$$|\bar{x}_{i1}|\phi_{i12}(|z_i|) \le \bar{x}_{i1}\hat{\phi}_{i12}(x_{i1}, r_i) + \epsilon'_{i12} + \frac{1}{4}\bar{x}_{i1}^2 + d_{i1}(t),$$
(17)

where  $\epsilon'_{i12} = 0.2785\epsilon_{i12}, d_{i1}(t) = (\phi_{i12} \circ \alpha_{i1}^{-1}(2D_i(t)))^2$  and

$$\hat{\phi}_{i12}(x_{i1}, r_i) = \bar{\phi}_{i12}(r_i) \tanh\left(\frac{\bar{x}_{i1}\phi_{i12}(r_i)}{\epsilon_{i12}}\right)$$

with  $\bar{\phi}_{i12}(r_i) = \phi_{i12} \circ \alpha_{i1}^{-1}(2r_i).$ 

Substituting (16) and (17) into (15) results in

$$\dot{V}_{i1} \leq \bar{x}_{i1} \left( g_{i1} x_{i2} + f_{i1} + \frac{1}{4} \bar{x}_{i1} + \hat{\phi}_{i11}(x_{i1}) + \hat{\phi}_{i12}(x_{i1}, r_i) + \frac{1}{\lambda_{i0}} \bar{x}_{i1} \mu_{i0} \left( \left| \bar{x}_{i1}^2 \right| \right) \right) - \frac{\bar{c}_i}{\lambda_{i0}} r_i + \frac{d_{i0}}{\lambda_{i0}} + \sum_{k=1}^2 \epsilon'_{i1k} + d_{i1}(t) - \frac{b}{\gamma_i} \tilde{\theta}_i \dot{\hat{\theta}}_i.$$

$$(18)$$

**Step j.**  $(2 \le j \le n_i)$  Similar procedures are taken for  $i = 2, ..., n_i$  as those outlined in Step 1. The dynamics of  $\bar{x}_{ij} = x_{ij} - \alpha_{i(j-1)}$  is given by

$$\dot{x}_{ij} = g_{ij} x_{i(j+1)} + f_{ij} + \Delta_{ij} - \dot{\alpha}_{i(j-1)},$$
(19)

where

$$\dot{\alpha}_{i(j-1)} = \sum_{k=1}^{j-1} \frac{\partial \alpha_{i(j-1)}}{\partial x_{ik}} \left( g_{ik} x_{i(k+1)} + f_{ik} + \Delta_{ik} \right) + \frac{\partial \alpha_{i(j-1)}}{\partial \hat{\theta}_i} \dot{\hat{\theta}}_i + \frac{\partial \alpha_{i(j-1)}}{\partial r_i} \dot{r}_i.$$
(20)

Consider a Lyapnov function candidate as  $V_{ij} = \frac{1}{2}\bar{x}_{ij}^2$ . Then, differentiating  $V_{ij}$  gives

$$\dot{V}_{ij} \leq \bar{x}_{ij} \left( g_{ij} x_{i(j+1)} - \sum_{k=1}^{j-1} \frac{\partial \alpha_{i(j-1)}}{\partial x_{ik}} g_{ik} x_{i(k+1)} + f_{ij} - \sum_{k=1}^{j-1} \frac{\partial \alpha_{i(j-1)}}{\partial x_{ik}} f_{ik} - \frac{\partial \alpha_{i(j-1)}}{\partial r_i} \dot{r}_i \right) + \left| \bar{x}_{ij} \bar{\Delta}_{ij} \right| - \bar{x}_{ij} \frac{\partial \alpha_{i(j-1)}}{\partial \hat{\theta}_i} \dot{\theta}_i$$

$$(21)$$

where  $\bar{\Delta}_{ij} = \Delta_{ij} - \sum_{k=1}^{j-1} \frac{\partial \alpha_{i(j-1)}}{\partial x_{ik}} \Delta_{ik}$ . By using triangular inequality and Assumption 2.1, one has

$$\left| \bar{x}_{ij} \bar{\Delta}_{ij} \right| \leq \left| \bar{x}_{ij} \right| \left( \phi_{ij1} \left( \left| \underline{x}_{ij} \right| \right) + \sum_{k=1}^{j-1} \left| \frac{\partial \alpha_{i(j-1)}}{\partial x_k} \right| \phi_{ik1} \left( |\underline{x}_{ik}| \right) \right) + \left| \bar{x}_{ij} \right| \left( \phi_{ij2}(|z_i|) + \sum_{k=1}^{j-1} \left| \frac{\partial \alpha_{i(j-1)}}{\partial x_k} \right| \phi_{ik2}(|z_i|) \right).$$

$$(22)$$

Subsequently, by following the similar estimation methods to (16) and (17) for terms at the right hand side of (22), we rewrite (21) as

$$\dot{V}_{ij} = \bar{x}_{ij} \left( g_{ij} x_{i(j+1)} - \sum_{k=1}^{j-1} \frac{\partial \alpha_{i(j-1)}}{\partial x_{ik}} g_{ik} x_{i(k+1)} + f_{ij} - \sum_{k=1}^{j-1} \frac{\partial \alpha_{i(j-1)}}{\partial x_{ik}} f_{ik} + \hat{\phi}_{ij1} \left( \underline{x}_{ij}, \hat{\theta}_i, r_i \right) \right. \\
\left. + \hat{\phi}_{ij2} \left( \underline{x}_{ij}, \hat{\theta}_i, r_i \right) + \frac{\bar{x}_{ij}}{4} \left[ 1 + \sum_{k=1}^{j-1} \left( \frac{\partial \alpha_{i(j-1)}}{\partial x_k} \right)^2 \right] - \frac{\partial \alpha_{i(j-1)}}{\partial r_i} \dot{r}_i \right) + d_{ij}(t) \\
\left. + \sum_{k=1}^2 \epsilon'_{ijk} - \bar{x}_{ij} \sum_{k=1}^{j-1} \frac{\partial \alpha_{i(j-1)}}{\partial \hat{\theta}_i} \dot{\theta}_i.$$
(23)

Now, choose the following Lyapunov function for the whole systems:

$$V = \sum_{i=1}^{N} \sum_{j=1}^{n_i} V_{ij} = \sum_{i=1}^{N} \sum_{j=1}^{n_i} \frac{1}{2} \bar{x}_{ij}^2 + \frac{b}{2\gamma_i} \tilde{\theta}_i^2.$$
(24)

By considering (18) and (23), we obtain

$$\dot{V} \leq \sum_{i=1}^{N} \sum_{j=1}^{n_i - 1} \bar{x}_{ij} \left\{ g_{ij} \alpha_{ij} + \hat{f}_{ij}(X_{ij}) \right\} + \sum_{i=1}^{N} \bar{x}_{in_i} \left\{ g_{in_i} u_i + \hat{f}_{in_i}(X_{in_i}) \right\} - \sum_{i=1}^{N} \frac{\bar{c}_i}{\lambda_{i0}} r_i \\ + \sum_{i=1}^{N} \frac{d_{i0}}{\lambda_{i0}} + \sum_{k=1}^{2} \sum_{i=1}^{N} \sum_{j=1}^{n_i} \epsilon'_{ijk} + \sum_{i=1}^{N} \sum_{j=1}^{n_i} d_{ij}(t) - \sum_{i=1}^{N} \frac{b}{\gamma_i} \tilde{\theta}_i \dot{\hat{\theta}}_i,$$
(25)

2160

where the following result has been used:

$$-\sum_{i=1}^{N}\sum_{j=2}^{n_{i}}\bar{x}_{ij}\frac{\partial\alpha_{i(j-1)}}{\partial\hat{\theta}_{i}}\dot{\hat{\theta}}_{i} \leq \sum_{i=1}^{N}\sum_{j=2}^{n_{i}}\bar{x}_{ij}\frac{\partial\alpha_{i(j-1)}}{\partial\hat{\theta}_{i}}\sigma_{i}\hat{\theta}_{i} - \sum_{i=1}^{N}\sum_{j=2}^{n_{i}}\bar{x}_{ij}\frac{\partial\alpha_{i(j-1)}}{\partial\hat{\theta}_{i}}\sum_{k=1}^{j-1}\frac{\gamma_{i}}{2a_{ik}^{2}}\bar{x}_{ik}^{2}S_{ik}^{T}S_{ik} + \sum_{i=1}^{N}\sum_{j=2}^{n_{i}}\frac{\gamma_{i}}{2a_{ij}^{2}}\bar{x}_{ij}^{2}S_{ij}^{T}S_{ij}\sum_{k=2}^{j}\left|\bar{x}_{ik}\frac{\partial\alpha_{i(k-1)}}{\partial\hat{\theta}_{i}}\right|,$$
(26)

and  $\bar{f}_{ij}(X_{ij}), 1 \le i \le N, 1 \le j \le n_i$  are defined as  $\hat{f}_{i1}(X_{i1}) = f_{i1} + \frac{1}{4}\bar{x}_{i1} + \hat{\phi}_{i11}(x_{i1}) + \hat{\phi}_{i12}(x_{i1}, r_i) + \frac{1}{\lambda_{i0}}\bar{x}_{i1}\mu_{i0}\left(\left|\bar{x}_{i1}^2\right|\right),$  (27)

$$\hat{f}_{ij}(X_{ij}) = g_{i(j-1)}\bar{x}_{i(j-1)} - \sum_{k=1}^{j-1} \frac{\partial \alpha_{i(j-1)}}{\partial x_{ik}} g_{ik} x_{i(k+1)} + f_{ij} - \sum_{k=1}^{j-1} \frac{\partial \alpha_{i(j-1)}}{\partial x_{ik}} f_{ik} + \hat{\phi}_{ij1}\left(\underline{x}_{ij}, \hat{\theta}_i, r_i\right) + \hat{\phi}_{ij2}\left(\underline{x}_{ij}, \hat{\theta}_i, r_i\right) + \frac{\bar{x}_{ij}}{4} \left[1 + \sum_{k=1}^{j-1} \left(\frac{\partial \alpha_{i(j-1)}}{\partial x_k}\right)^2\right] + \frac{\partial \alpha_{i(j-1)}}{\partial \hat{\theta}_i} \sigma_i \hat{\theta}_i - \frac{\partial \alpha_{i(j-1)}}{\partial r_i} \dot{r}_i - \frac{\partial \alpha_{i(j-1)}}{\partial \hat{\theta}_i} \sum_{k=1}^{j-1} \frac{\gamma_i}{2a_{ik}^2} \bar{x}_{ik}^2 S_{ik}^T S_{ik} + \frac{\gamma_i}{2a_{ij}^2} \bar{x}_{ij} S_{ij}^T S_{ij} \sum_{k=2}^j \left|\bar{x}_{ik} \frac{\partial \alpha_{i(k-1)}}{\partial \hat{\theta}_i}\right|.$$
(28)

Then, for any given  $\varepsilon_{ij} \geq 0$  there exists a fuzzy logic system  $W_{ij}^T S_{ij}(X_{ij})$  such that

$$\hat{f}_{ij}(X_{ij}) = W_{ij}^T S_{ij}(X_{ij}) + \delta_{ij}(X_{ij}),$$
(29)

where  $\delta_{ij}$  refers to the approximation error and satisfies  $|\delta_{ij}| < \varepsilon_{ij}$ . Furthermore, by Young's inequality, one has

$$\bar{x}_{ij}\hat{f}_{ij}(X_{ij}) \le \frac{b}{2a_{ij}^2}\bar{x}_{ij}^2\theta_i S_{ij}^T S_{ij} + \frac{1}{2}a_{ij}^2 + \frac{b}{2}\bar{x}_{ij}^2 + \frac{1}{2b}\varepsilon_{ij}^2,$$
(30)

where the unknown constant  $\theta_i$  has been defined in (9).

Substituting (29) into (25) and using (30) produces

$$\dot{V} \leq \sum_{i=1}^{N} \sum_{j=12}^{n_i} \bar{x}_{ij} \left( g_{ij} \alpha_{ij} + \frac{b}{2a_{ij}^2} \bar{x}_{ij} \theta_i S_{ij}^T S_{ij} \right) + \sum_{i=1}^{N} \sum_{j=1}^{n_i} \frac{b}{2} \bar{x}_{ij}^2 + \sum_{i=1}^{N} \sum_{j=1}^{n_i} \left( \sum_{k=1}^{2} \epsilon'_{ijk} + \frac{1}{2} a_{ij}^2 + \frac{1}{2b} \varepsilon_{ij}^2 + d_{ij}(t) \right) + \sum_{i=1}^{N} \frac{d_{i0}}{\lambda_{i0}} - \sum_{i=1}^{N} \frac{1}{\lambda_{i0}} \bar{c}_i r_i - \sum_{i=1}^{N} \frac{b}{\gamma_i} \tilde{\theta}_i \dot{\theta}_i.$$

$$(31)$$

Next, by designing the virtual control  $\alpha_{ij}$  in (6), we have

$$\bar{x}_{ij}g_{ij}\alpha_{ij} \le -\lambda_{ij}b\bar{x}_{ij}^2 - \frac{b}{2}\bar{x}_{ij}^2 - \frac{b}{2a_{ij}^2}\bar{x}_{ij}^2\hat{\theta}_i S_{ij}^T S_{ij}.$$
(32)

Further, by combining (31) together with (32) and (9), we rewrite (31) as

$$\dot{V} \leq -\sum_{i=1}^{N} \left( \sum_{j=1}^{n_{i}} \lambda_{ij} b \bar{x}_{ij}^{2} + \frac{\sigma_{i} b}{2\gamma_{i}} \tilde{\theta}_{i}^{2} + \frac{\bar{c}_{i}}{\lambda_{i0}} r_{i} \right) + \sum_{i=1}^{N} \frac{d_{i0}}{\lambda_{i0}} + \sum_{i=1}^{N} \sum_{j=1}^{n_{i}} \left( \sum_{k=1}^{2} \epsilon'_{ijk} + \frac{1}{2} a_{ij}^{2} + \frac{1}{2b} \varepsilon_{ij}^{2} + d_{ij}(t) + \frac{\sigma_{i} b}{2\gamma_{i}} \theta_{i}^{2} \right) \\ \leq -a_{0} V + b_{0},$$
(33)

where  $a_0 = \min\{2\lambda_{ij}b, \bar{c}_i, \sigma_i, 1 \le i \le N, 1 \le j \le n_i\}$  and  $b_0 = \frac{1}{2}\sum_{i=1}^N \delta_i^{*2} + \sum_{i=1}^N \frac{d_{i0}}{\lambda_{i0}} + \sum_{i=1}^N \sum_{j=1}^{n_i} \left(\sum_{k=1}^2 \epsilon'_{ijk} + \frac{1}{2}a_{ij}^2 + \frac{1}{2b}\varepsilon_{ij}^2 + d_{ij}(t) + \frac{\sigma_i b}{2\gamma_i}\theta_i^2\right)$ , and the result  $\tilde{\theta}_i \hat{\theta}_i \le -\frac{1}{2}\tilde{\theta}_i^2 + \frac{1}{2}\theta_i^2$ 

has been used in the above inequality. Equation (33) means that all the signals in the closed-loop system are semi-globally uniformly ultimately bounded in mean square. The main result is summarized by the following theorem.

**Theorem 3.1.** Under Assumptions 2.1-2.3, consider the closed-loop nonlinear system consisting of the system (1), controller (6), and adaptive law (7). Then, under the action of controller (6), for any initial conditions  $\left[\underline{x}_{ij}^{T}(0), \hat{\theta}_{i}(0)\right]^{T} \in \Omega_{0}$  (where  $\Omega_{0}$  is an appropriately chosen compact set), all the signals in the closed-loop system are semi-globally uniformly ultimately bounded in the sense of mean square.

4. Simulation Example. Consider the following second-order nonlinear systems

$$\begin{cases} \dot{z}_1 = -z_1 + 0.5x_{11}^2 + 0.5, \\ \dot{x}_{11} = x_{12} + x_{11}^2 \sin(x_{11}) + z_1 x_{11} \sin(x_{11}), \\ \dot{x}_{12} = u_1 + x_{11} x_{12} + z_1 x_{11} x_{12}, \\ y_1 = x_{11}, \end{cases} \begin{cases} \dot{z}_2 = -z_2 + 0.5x_{21}^2 + 0.5, \\ \dot{x}_{21} = x_{22} + x_{21}^2 + z_2 x_{21} \sin(x_{21}), \\ \dot{x}_{22} = u_2 + x_{21} \sin(x_{22}) + z_2 x_{21} \sin(x_{22}), \\ y_2 = x_{21}. \end{cases}$$

Based on Theorem 3.1, choose the virtual control signal  $\alpha_{ij}$  in (6) (i = 1, 2, j = 1), the actual controller  $u_1$  and  $u_2$  in (6) with i = 1, 2, j = 2 and the adaptive law in (7). The simulation is run with the initial conditions  $[x_{11}(0), x_{12}(0), x_{21}(0), x_{22}(0)]^T =$  $[0.4, -0.2, 0.3, -0.3]^T, [\hat{\theta}_1, \hat{\theta}_2]^T = [0, 0]^T$ , the design parameters  $k_{11} = k_{12} = k_{21} = k_{22} = 5$ ,  $a_{11} = a_{12} = a_{21} = a_{22} = 2$ ,  $\gamma_1 = \gamma_2 = 2$  and  $\sigma_1 = \sigma_2 = 1$ . The simulation results are shown in Figures 1 and 2. Apparently, Figures 1 and 2 show that all the signals in the closed-loop system are bounded.



FIGURE 1. State variables  $x_{11}$ ,  $x_{12}$ ,  $x_{21}$  and  $x_{22}$ 

5. Conclusion. In this paper, a fuzzy adaptive control approach has been proposed for a class of MIMO nonlinear systems with unmodeled dynamics and dynamics disturbances. The proposed controller guarantees that all the signals in the closed-loop system remain semi-globally uniformly ultimately bounded. Simulation results have been provided to illustrate the effectiveness of the proposed control scheme. Our future research will mainly focus on the output-feedback control for the original system (1) based on the result in this paper.



FIGURE 2. The actual control inputs  $u_1$  and  $u_2$ 

Acknowledgment. This work is supported by the National Natural Science Foundation of China (61304002, 11371071, 61403041 and 61575029); the Natural Science Foundation of Liaoning Province (No. 2015020058) and the Liaoning Province Office of Education Project (No. L2013424).

## REFERENCES

- X. P. Liu, G. Gu and K. Zhou, Robust stabilization of MIMO nonlinear systems by backstepping, Automatica, vol.35, no.5, pp.987-992, 1999.
- [2] M. Chen, S. S. Ge and B. B. Ren, Adaptive tracking control of uncertain MIMO nonlinear systems with input constraints, *Automatica*, vol.47, no.3, pp.452-455, 2011.
- [3] S. S. Ge and K. P. Tee, Approximation-based control of nonlinear MIMO time-delay systems, Automatica, vol.43, no.1, pp.31-43, 2007.
- [4] B. Chen, X. Liu, K. Liu and C. Lin, Novel adaptive neural control design for nonlinear MIMO time-delay systems, *Automatica*, vol.45, no.6, pp.1554-1560, 2009.
- [5] S. C. Tong, Y. M. Li and P. Shi, Fuzzy adaptive backstepping robust control for SISO nonlinear systems with dynamic uncertainties, *Information Sciences*, vol.179, no.9, pp.1319-1332, 2009.
- [6] H. Wang, X. Liu and K. Liu, Adaptive neural data-based compensation control of non-linear systems with dynamic uncertainties and input saturation, *IET Control Theory & Applications*, vol.9, no.7, pp.1058-1065, 2015.
- [7] L. X. Wang and J. M. Mendel, Fuzzy basis functions, universal approximation, and orthogonal least squares learning, *IEEE Trans. Neural Networks*, vol.3, no.5, pp.807-814, 1992.
- [8] H. Q. Wang, B. Chen and C. Lin, Adaptive neural tracking control for a class of stochastic nonlinear systems, *International Journal of Robust and Nonlinear Control*, vol.24, no.7, pp.1262-1280, 2014.